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Section A 

 
Answer all the questions in this section. 

Questions 1, 2 and 3 carry 12 marks and Question 4 carries 14 marks. 
You should allocate your time accordingly. 

 
 
The Globalisation of Economic Activity 
 
1 Fig. 1 shows the world’s top destinations for Foreign Direct Investments (FDI) in 2014.  
 

(a) Describe the spatial pattern of FDI inflows as shown in Fig. 1.     [6] 
   

(b) Suggest reasons why the FDI inflows is higher in China as well as Hong Kong, 
China, as compared to the United States in 2014.       [6]   

 
 
 
Population Issues and Challenges 
 
2 Fig. 2 shows the changes in the percentage of population aged over 60s in different 

countries from 2005 to 2050.  
  

(a) Name the country with the greatest increase in the percentage of over 60s between 
2005 and 2050.            [1] 

 
(b) Using data from Fig. 2, describe the general trends in ageing population around the 

world by 2050.           [3]    
                                                                                                                         

(c) Account for the general trends in (b).         [6] 
                          

(d) Suggest one possible measure that countries can adopt to manage the increment 
in population over 60s.           [2] 

 

 
Urban Issues and Challenges 
 
3 Photograph A shows the West India Quay in London, with the £550-a-night Marriott 

hotel in the centre and Light Railway station to the right of this. It is a part of London 
Docklands and has undergone recent urban renewal. 

 
(a) (i)   Identify features in Photograph A which suggest that urban renewal has taken        

       place at London Docklands.          [3]   
 
(ii)  Explain how the features identified in (i) might attract more visitors to London   
       Docklands.                     [3]  

 
(b) Describe the methods you would use to carry out a survey of land use in an urban 

district such as that shown in Photograph A.         [6] 
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The Globalisation of Economic Activity, Population Issues and Challenges & Urban 
Issues and Challenges 
 
4 Fig. 3 shows the number of registered automobiles in (10,000s) in Beijing, Shanghai 

and Guangzhou.  
 

(a) With reference to Fig. 3, describe how the number of registered automobiles has 
changed from 1993 to 2011 for Beijing, Shanghai and Guangzhou.     [4] 
  

(b)  Account for the rate of change in the number of registered automobiles for the three 
Chinese cities.           [6] 

 
(c) Explain two possible ways in which Beijing can adopt to manage the number of 

registered automobiles.           [4] 
 
 

 
 
 
 
 

Section B 
 

Answer two questions from this section. 
 
The Globalisation of Economic Activity 
 
5 EITHER 
 

(a) Describe the main features of the just-in-time principle of manufacturing and explain 
its possible advantages and disadvantages.        [9] 
                                                                                                                                    

     (b) ‘Newly Industrialising Economies (NIEs) are the greatest winners in today’s global 
economy’. To what extent do you agree with the statement?             [16]                       

 
 
OR 

   
 

(a) What roles do small medium enterprises (SMEs) play in the economic development 
of a country or countries you have studied?        [9] 

                                                    
(b) Discuss the view that supranational bodies have caused more harm than good in 

both DCs and LDCs.                  [16] 
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Population Issues and Challenges 
 
6 EITHER 
 

(a)  With reference to examples, explain the concept of renewable and non-renewable 
resources and their significance for resource management.      [9]   

                                                                            
(b) Discuss the relevance of the Demographic Transition Theory in explaining 

population growth in developed and developing countries.             [16]
  

 
OR 
 
 
(a) Explain why some pro-natalist policies are successful while others fail in DCs.   [9] 

                                                                                                                                                                  
(b) Evaluate the effectiveness of using transnational migration to solve the 

demographic challenges faced by DCs.                 [16]  
 
 
 
 
 
Urban Issues and Challenges 
 
7 EITHER 
 

(a) With the use of examples, distinguish between the terms primate city, megacity and 
global city.             [9]  
 

(b) ‘The consequences of the decentralisation of population and economic activities are 
largely environmental.’ Discuss this statement with reference to DCs.           [16]  
 

 
 
OR 

   
 

(a) Compare the nature and extent of housing problems found in cities in both DCs and 
LDCs.             [9]  

 
(b) Assess the effectiveness of strategies to overcome housing challenges in LDCs. [16]  
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